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Let’s Review!

1
2

- - 1. Write the equation of a line in slope-intercept 2. Write the equation of a line in slope-point form m =
m= form with a slope of -2 and a y-intercept of 6. with a slope of % , that passes through the ( 5. )
\

~ point (5, 8).
b= v 3cm’>c+\o x,

\6: Qe+ 6

Equation of a Line in General Form

Examples:
Ax+By+C=0
ey 2x+7y—4=0

3x—2y+8=0
TCOQ-\:F{C?&AE of x
Mus e Fve

where A is a whole number and B, and C are integers.

Example: Rewrite the following equations in general form.
)ch,-\e)\" rid ok Fraf_-’c?m,_l-\méy\ YO V& everq-—\—\«incx 4o o~ side .
1. y=—%x+6 2. y—6=%(x+4)
\
JLD):Q[—%wc—\'E) ‘—f(v)ab): ‘-fx-q(,x.—r‘—l)
L—[ "'3"'{ = > 4—“}
auw= "3xz+12 A
\3_ O:DC,_(,{VI—\-Pl—l'Qq
BT +dy-12 T Oj oo 5o — Uy €28

Try it! Rewrite the following equations in general form.

1. y=—§x—4 2. y+2:§(x—2)
3y - g(«f‘x«*-l) 5( ,{,fz/):ggx Z (x-2)
3 A =
—z‘>v‘;-—2,>c-\'l. 5\1’\'10:;(’%,7’)
o= Lx "l;v}"b\/\b

- 2% -5y -

O
F})LIS\/) /IL] = 03
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Graphing a Line in General Form

Find the x-intercept by setting y = 0. Find the y-intercept by setting x = 0. You have two points, so
you can graph your line!

Example: Graph the following lines.

1. 2x—4y+3=0 2. 3x+6y—1=0
Elad x-inlerwyt ('\’5«’;0) @ FAd %*YA\-?—YCWE C‘“’tco)
Q> -Heo) t3 = O 2%+ (LCo)-\1 =0
23 +3 = O »x -V 70
2x = -3 '5”:/{
x = -2 x5 ;
2 . X = ©
{5‘-2 - — Qt(v
{7&74'5 ) Q"\AC}‘ v\ Laer e

@ Ford «3—‘:\\-&«%% (=0 3C0) - ("u‘—\f_o

ALY~y x5 =0 -\ = B9
«‘v{u\’\."s:D © =

- -\ =
2T A

tot sk
_ =O-
37 o
k.
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Finding the Slope of the Line
To find the slope of a line written in general form, rewrite the equation in slope-intercept form.

Put iato Y =ricth Lo, C.%c:\\le_‘?w\)b,y
Example: Determine the slope of the following lines.

1. 2x—3y—-3=0 2. 4x+2y—-5=0
Az-3 > 3 Ly = ~Hx 5
L ® ° = >
Zx-1 =
= .2..")(,"’\

V73
e Slope is —q
@s\m % 32. \

Try it! Determine the slope of the following lines.

1. 3x—2y+8=0 2. 5x+3y—-9=0

22X = 2 2 - -Sxt 9
¢ b

2 2 _;; 2
éx‘\""‘{ = - - S ~~ X 35
2 :X \3 s

vy = e

2

<

e slope (s 7 2
3

T Tle %\ofe e 2
2

Lesson 6 Homework: WS 10-7-6 “Equation of a Line in General Form”
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